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Three charged particles are positioned on the x-axis. A positive charge (25 4 C) is
placed at x=2 m and a negative charge (-49 4 C) is positioned at the origin (x=0).
Where on the positive x-axis must a third charge be placed so that the resultant force
on it is zero?
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Two identical 25x 107 C charges are replaced on the y-axis at y=+ 4m. What is the
electric field vector on the x-axis at x=3m?
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Two point charges ¢, and g, are located at the corners of a square as in the figure. If

the direction of the resultant electric field at point P is to the right, find the ratio
(gq,/q,) of the charges.
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A charge (uniform linear density= 8x107) is distributed along the x-axis from x=0 to
x=3 m. Determine the magnitude of the electric field at a point on the x-axis with
x=4 m.
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A thin glass rod of length 15 cm is bent into a semicircle of radius r=5 cm. A charge
q=-7.5 u C is uniformly distributed along the upper half and a charge q=+7.5 u C is
uniformly distributed along the lower half as shown in the figure. Find the electric
field vector at point 0.

-+

o, E [gg_—irnr;f, Ai_\e/}cft a‘{ »H«z, G’T‘l(a’\ ﬂuﬂ. "r"o cb\.w(

/| " Y
51 "Tlé'l&l&ol W\'\{%rml oUey b — _c,uc:e, .

——————

y

™~ - g{ {0 ;

+(\>0 ~ ;
o’ :'5 " ‘Lk\@/ oYUy 1em [ i ]\]
Y ! e :_?:&_(1'--,\,;([0 )_lc 2L )®
. £ o ( >5(4)7 (TF) (0.03)% (_ﬁ)(
) E=E +E]



